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MONTHLY TEST - JUNE, 2023

When sound waves travel from one medium to another medium, the
quality that remain unchanged is

a. Speed b. Frequency c. Intensity

d. Wavelength e. Answer not known

@60 OIMEVBET (H  2a1l_HHHe([HHAH BOBTH 2l HHHBEG OFeveIDGLITS,
BIDEHBHEWTL_UBMIGT 6TH6T SI6NT6Y LOTBTH(HEHESHWD?

a. Geusmld b. &&TCeuewt c. Qaniley

d. semeursenid e. alenL GaMuwalsened

Sound waves do not show the phenomenon of

a. refraction b. interference c. diffraction

d. Polarisation e. Answer not known

@60 OIMeVHENTEL HTewLldbs EUIOTHN6 6I606?

a. aflevae0 b. &BIHSEBH0 c. alefiby alleneray
d. sen alewere) e. alewL GxMuwelsvenew

The time of reverberation of a hall can be decreased by
a. having more number of loud speakers

b. opening all windows and doors

c. closing all windows and doors

d. speaking loudly

e. Answer not known

90 Smpuied aHT WYss CEISHmEHs GMBLILSBE

a. SIF B eTevTenlHmBUID 660l OLIHBHEHBM6N LILIGTLIHSHSH0TLD
b. e16060T MeiIREL BHOYBMT HWHLH emeusHd Geuemt(HLd

C. 61606V $Q6ITEIT6D BHHEYBEMGT (Lol meusHd Geuemr(hLd

d. sssone Gus GeuewiBLD

e. alemL Ozfwailebensv

What is the audible range of sound for human ear?

a. 20-20,000 Hz b. > 20,000 Hz c.>20x10* Hz
d.<20Hz e. Answer not known

LT SHNGT HTHIHMT60 2 ewITLILIGLD eeVlullell DISHTOeu6mT6mT6 LOFHILIL| 6T65T60
a. 20-20,000 Hz b. > 20,000 Hz c.>20x10* Hz

d. <20 Hz e. alenL GxMuielsvenew
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5.  Sound Travel in air in the form of
a. a transverse wave
b. a longitudinal wave
c. both as longitudinal and transverse wave
d. None of the above
e. Answer not known
STBMBI0 60 DIMEVEHEIT LITEYH6D 6UIQ6ULD
a. GBISBHEN6VSHEIT
b. QBL L eneudelt
C. OBLLM6VSHET OBMID (G MISHHNE0H6NT
d. GuomsesiL 6IgIlD Be0em6v
e. alewL Oxflwalsvensv

6.  Which of the following chemicals can be used as Rodenticides?

i. Zinc phosphide ii. Sodium fluoro acetate
iii. thallium sulphate iv. Dithio carbamate
a.iand ii only b. iii and iv only

c. i, ii and iii only d. i, ii and iv only

e. Answer not known
eiteupd CeuglliGUm(BHL B61fl60 6Temeu6luIcLeUTD 6160 Ol&MeLIWITS  LIWaTLIGSBEI?

1. HIHHHTH LTeroenLI® 1i. Gamgund 1epGym oI GLL_
1il.&Tellwid Fe0GUL 1v. v &Bwim smiuGoL

a. 1 BmIb ii 1o Bib b. iii woBEID iV L Bid

C. 1, ii LomIb iii oL (BLd d. i, ii oBmID iV oL GID

e. alewL OzMuwalsvensv

7. Expansion of DDT is
a. Dichloro diphenyl trichloro ethane
b. Dimethyl dichloro trichloro ethane
c. Dichloro diphenyl tetrachloro ethane
d. Dichloro diphenyl trichloro ethylene
e. Answer not known
DDT eeuger alfleurdasid
a. L &GCenm@ym emLLlewented 19emy GCenmGym FHECHes
b. ew_GingHed L GBemGym ey GHBemCym FdHBHe0T
c. oL &GemmGym ewLLiemenied OLLgm &GenmmGym mdHGHein
d. ewL&BemBym e Llenaied 19eny &Gy 61855 eS6wr
e. alemL Ozflwaledensv
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8.  An example of commonly used Insecticide is
Bordeaux mixture

. 2,4-Dichloro phenoxy acetic acid

DDT

. Arsenic

Answer not known

UTGIeUTSL LWeTUBGSHSILGL UEFFH0HT60605E 1BHHIHHTL (B
GuTLT&herd &Hevenal

2, 4 oL GGCemBym emad SF19dH Sjdlevld
DDT

. SifiFeald

alenL  OFflwealedenev

CaAnN TP OO0 AN T

9.  Which one of the following is a main component of fertilizers?
a. Chlorine b. Hydrogen c. Methane
d. Ammonia e. Answer not known
BIPHHWL_UBMI6T o1& 2 Jib Hwmilés uweauBlh e (pésdlul Qum el
a. @Gemmledr b. emamt yegesr C. 1858601
d. ouoGumesfiwr e. alemL Gafwelsdenev

10.  Which of the following is not an insecticide?

a. Malathion b. Parathion c. Isoprene
d. Diazinon e. Answer not known
SdHHemiLauBBled 61FH LEFFHHEBHTE060  LO(HHHEV60?
a. LOT6VTSHUITH b. urgTgwiTes c. :GBamiifenr
d. Lwreenmest e. alemL Ozfuialsdensv
11.  What is the expansion of BMR?
a. Body Mass Rate b. Basal Metabolic Rate
c. Body Metabolic Ratio d. Bone Mass Ratio

e. Answer not known

BMR eeiugl elfleurdsid wimg?

a. Body Mass Rate b. Basal Metabolic Rate
c. Body Metabolic Ratio d. Bone Mass Ratio

e. alewL Oz flwalsvensv

12.  The minerals which help in cardiac functions
a. Potassium and Calcium b. Magnesium and Calcium
c. Zinc and Iron d. Calcium and Phosphorus
e. Answer not known
B Buisbsmiselsd Hlemen OCFUILID HeoTLomISe6T
a. Qum_Lmflub oBmId  sreoduitd b. Gudeaffluid B srevduwib
C. HIHSBTHID OBEWID EHLOL d. smeddlunb 1BmID UTerdLIFerd
e. alewL Oz flwalsvenso
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13.  Match the following:
A. Beriberi 1. Vitamin C
B. Pellagra 2. Vitamin By
C. Scurvy 3. Vitamin D
D. Rickets 4. Vitamin B3
A
4
2
1
3
e. Answer not known
QUT(HSHSHIH
A. QuilGu 1. eneu_L1blest C
B. GQueveoraym 2. enaul_L1blest By
C.ovsTal 3. eneul_Ltblest D
D. M&0sL6rd 4. el L10e1B3
A
a 4
b. 2
C. 1
d
e.

o op

N W b W g
=R =N
=N W g

N W o W oo
N Yl e
=N W g

3
alemL  Oxflweledsnsd

14. Match list 1 and list 2:

List 1 List 2
a. Diabetes 1. Immunisation
b. Marasmus 2. Blood vascular treatment
c. Booster doses 3. Protein deficiency
d. Angioplasty 4. Insulin
A B C D
a. 4 3 1 2
b. 2 1 3 4
C. 3 2 1 4
d. 4 1 3 2

e. Answer not known
uliguied 1 @ uliguied 2 o L6l GuThSHHS
U guied 1 ULl iguiey 2

A.6ML_UILIQ6ID 1. sbuyd gL

b. wymerdioerd 2. BUHdHd GWIUl FdHFms
C. 2155 HBUILF) 3. s &eopun®

d. auehdGuimienmerdig 4. Be1560 60
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_ N R WO
WP WeRA
N BN g

a
b.
C.
d.
e. alewL Oxfluwalsvensv

15.  What is the Vaccine given for polio?
a. IPV (Inactivated Polio Vaccine) = b. OPV (Oral Polio Vaccine)
c. BCG d. IPV and OPV

e. Answer not known
GumedGuwimalBeTen HBLILS 6lettenn?

a. whswressiu’ L CuredGur s6UY wmba (LPV)
b. euruieuf GumelGwim s6LY wmba (OPV)
c. Udg
d. IPV wppiw OPV
e. alemL Ozflwalsensy
16. Match the following
City Popular in
Tirupur 1. Cloth market
Karur 2. Gate way of Tamil Nadu
Erode 3. International Leather Fair
Chennai 4. Knitting city
Thoothukudi 5. Home Textiles
A B C D E
a. 4 5 1 3 2
b. 3 4 2 1 5
C. 2 3 4 1 5
d. 1 2 3 5 4
e. Answer not known
CUT(HSHSHIS
HESBJHIBGIT ysp Oumbmpene
A. Fmuyt 1. gienlFahHms
B. s 2. SOPEHHH T HIDWe| 6uTuiled
C. mGyn( 3. FTauBshsF BpTeL SHeWIHTL
D. Qgeiener 4. Ueiteme0menL [HBHJLD
E. ansasssig 5. ail(p a|eildei
A B C D E
a. 4 5 1 3 2
b. 3 4 2 1 5
C. 2 3 4 1 5
d. 1 2 3 5 4

e. alemL Ozflwaledensv
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17. Kodiveri Dam is constructed across

a. Noyal River b. Bhavani River c. Cauvery River
d. Thamirabarani River e. Answer not known

‘CamgBeufl oiement’ 6ihd HHUET GHBIHCH UL LILL (BHeTeng)?

a. GBTUIWE Sl b. uvael Symi c. sralfl ouml
d. smoyureni omi e. alowL Oxfuwaledemev

18.  Match the following:

A. Senji 1. Stala durga

B. Anaimalai 2. Vana durga

C. Vellore 3. Giri Durage

D. Panchalankurichi 4. Jala durga
A B C D

a. 2 3 4 1

b. 3 2 1 4

C. 3 2 4 1

d 4 3 2 1

e. Answer not known
SLpSHSTenLIBenBL  CILIT(HSHSHISH:

A. Qgehd 1. 6eOFH60 HITHT
B. simerinemev 2. QU HITHT
C. Geugumit 3. Afl sITET
D. umehsmeorignFd 4. @m0 FHITHT
A B C D
a 2 3 4 1
b. 3 2 1 4
C. 3 2 4 1
d 4 3 2 1
e. alewL Oz flwalevensv
19. Tamil nadu receives Maximum rain fall from period
a. October to December b. January to May
c. June to September d. August only

e. Answer not known

SODBTL 960 DIFHHLoment Wwenp GUMley GLI(HD &HTevLd

a. 9IBCLTUNGIBHSH 19FIDUT el b. mareufluledmba G eieny
C. &°6il-60 @(HhH OFILLDUT 6uem] d. 9me0E WTHD L [HID

e. alemL Ozflwaledensv
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20. River Sanctuary in Tamil Nadu is
a. Kalakad Mundanthurai Tiger Reserve
b. Sathyamangalam Tiger Reserve
c. Mudumalai Elephant Reserve
d. Vellode Bird Sanctuary
e. Answer not known
SODBHTL 1960 “OMISH6M6T FFeuTTeould” 61Tl SIMPSHBLILIBSBSI.
a. HVSBTH (LPWIL[HHIMM L|eVI&H6IT FJemITeVLILD
b. 68w 1ORIGBEIID LIeO&6IT FJemImeOWILD
C. (PSIDEM6L  WITENGIHEIT  FJEUIT6VUILD
d. QeueBenm(h LIBENEUSHET FFemITEOUILD
e. allewl g flwailstenev

21. Thamirabarani is a perennial river that originates from the of the
western Ghats.
a. Agastyar Koodam Peak of Pothigai hills
b. Siva Gnana teertha
c. Varusanadu hills
d. Brahmagiri
e. Answer not known
STOTUTemn] TG o Fdulev Gumg OHTLIFS  wemevuiled
2 (HaUTGLD QH UBBTSH HSHWITGLD.
a. BVHWT L GHFH6L GUTHENS LDeN60
b. Heugpren FysHsid
C. QUBHIFBT(H LD6N6EVSHEIT
d. yiboai
e. alemL G fluwealsdenev

22.  Which two districts of Tamil Nadu are frequently affected by cyclonic
storms?
a. Chennai and Kanyakumari
b. Nagapattinam and Cuddalore
c. Villupuram and Perambalur
d. Kancheepuram and Ramanathapuram

e. Answer not known
SLOLD [BITL_19 63T obD G761 (H LOTGUL L MIG6IT DIYHBIQ Lu160l6uT 60

LTSS LILB S 136017
a. OCgeaiener LOBMID SHeiTeNWIm@G Lo b. mrsliugend oBBID ST
c. alpuyyb MBI GLIFDLIGYITT d. srehdlyb BBID SITOBTHLTD
e. allewL O fwalevens.

23.  In Tamil Nadu Indira Gandhi National Park is located at District
a. Coimbatore and Tiruppur b. Nilgiris c. Yelagiri
d. Kodaikanal e. Answer not known
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24,

25.

26.

27.

28.

SIOPBHH60 BHHIT HMHLH CHFW LmIsST SIenOhHAHIET6N OTaIl L 1D
a. GaTwIbUSHTT OBBID SHHUILLT b. Sevadif C. ggeudlf]
d. O&renL sasmened e. alenL Gafuwaledeney

Highest peak in South Indian Peninsula is,

a. Palaghat pass b.The Anaimudi c. Doddabetta
d. Karle e. Answer not known

OgpaalbHu HUusBUSHET WE © WihHs Lene0F FHLb.

a. UTeUSBMT ([ Samiaumuil b, SLene(Lpig C. OzmiL QuiLm

d. &miGev e. alenL GxMuwelsvanew

Which of the following is not correct?

a. Tamilnadu produces about 20% of total Sugar in India

b. At present Tamilnadu has 42 sugar mills

c. A majority of sugar units in Tamilnadu are functioning under the co-
operative system.

d. Jaggery, Karkandu and sugar are products from the sugar industry

e. Answer not known

LN6TeU(HLD FnBEIB6M60 HAUBTIHI 6157

a. @bPHwrelest 20% sTdsmy 2 BUSSH SODHTL 1960 2 BLSHLTSBS.

b. SWODET 1960 GLOTSHSID 42 FTHHM] DLEEOEH6T 2 _6iTeN6n.

C. FHBM] DUMEVDHET Fnl (hB6] FHISHIGMTED BL SHFHLILIBDSBSI.

d. Galedevld, SBBHEIH, FTHBMJ hdlUien6l SHLIN(HHSH B SHEGD
2 BuUSHSH OUTHeiT

e. alemL OFflwealsdensv

24,3

Find the Highest common Factor of 4p°g’r,8p°q’r?,16 p*q’r
BUOLm QuTEIGSSH stews. 4p°g’r,8p°g’r?,16p°g’r?

a. 4p°q*r® b. 4p*g°r c. 16 p*g°r

d. 16p%*q*r® e. Answer not known

If 15 chart papers together weigh 50 grams then the number of same type
of chart in a pack of 2 %2 Kilogram is

a. 750 b. 700 c. 680

d. 720 e. Answer not known

15 ol L sefer GoTeHs el 50 Hmb eeiev, 918% SemajemLw 2 Y2 &.8.
GTEMLUTGL 2 6iTeN S 6nL 6160  616u616001 HendH

a. 750 b. 700 c. 680

d. 720 e. alewL Gafwelsvensv

Ages of two persons are in the ratio 1:3, product of their ages is 48. What
is the difference of ages?

a.2 b.12 c.8
d. 4 e. Answer not known
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& mpuTsellen auwgiseler aldsbd 1:3, auugiseier OLIHEHSMBLIGVET 48 6l6uTe0
SlalTHeMer euLSHIH6Ten alsHSUTFD eTeireo?

a.2 b. 12 c.8

d. 4 e. oL O&flwalevemed

29. The LCM of x3 - a3 and (x - a)2is
a. (x3 - ad)(x +a) b. (x3 - a3)(x - a)2 c. (x - a)2(x2 + ax + a?)
d. (x +a)?(x2 + ax + a?) e. Answer not known
x3 - ad b (x - a)? Reubpdlen 15.GLIT.LD
a. (x3 - ad)(x +a) b. (x3 - a3)(x - a)2 c. (x - a)2(x2 + ax + a?)
d. (x +a)2(x2 +ax + a2) e.alowL OFHflwealevenev

30. If7:5isin proportion to x : 25 then the value of x is

a. 35 b. 25 c.175

d. 125 e. Answer not known

705 eEH X : 25-85@G eldlg Fob ereied ‘X 6 S
a. 35 b. 25 c.175

d. 125 e. alowL Oaflwaledemev

31. The textile capital of Tamil Nadu

a. Karur b. Coimbatore c. Madurai
d. Tirupur e. Answer not known
SODBTL 96 gaells Hemeobeid
a. &emT b. Gamuwibg gt C. DGl
d. Haprigr e. el Gafuwealsvenso
32. Pichavaram has type of forest
a. Wet evergreen b. Moist deciduous c. Mangrove
d. Subalphine e. Answer not known
LN&FaTeuT &FH60 UMD HTHH6IT 2 6iT6ren
a. FJLIU&GeDLD  BHT(HEH6IT b. myomer eeow BT HTHBH6I
C. 5B BlovdbBTHBH6N d. eerBmal ST{HH6N

e. alemL Ozfwailebensv

33.  Which of the following is a biosphere reserve?
a. Mundanthurai b. Vedanthangal c. Mudumalai
d. Gulf of Mannar e. Answer not known
SlpseniauBpien o uliT@smen UTHISTIIL eDOWID 6157
a. (LEWTL_hBHIeN] b. GeuL_b&mmhicsed C. (IpSHILDEN6V
d. westenmiT GuemeMEGLIT e. alemL Ozfwaledensv
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34. The Tamil Nadu State has been divided into how many agro-climatic
subzones

a. 11 b.7 c.9 d.3 e. Answer not known
SODBTH  LOTHEVDTEISHI  615HHem6  CoUeTTewI-HT6L  HleneVHM6T  OIHTEWIL.  FHIN6wT
Lo6wTL_60mIB6eNTH  LIfldbaslil (Beiteng?

a. 11 b. 7 c. 9 d. 3 e. alewL Gafuwalsdensv

35. The main cause for Landslides in Nilgiris District is
a. Drought conditions b. Heavy rain
c. Inflow of tourists d. Smart city project
e. Answer not known
peudfl meul L H&Hev BlevdFgfley gmuL (pHSUI STTeOIOTS S(HLUILIG
a. eupL HwImes [Henev b. &18& emp
C. GBDIOTAGIT GU(HMD d. £mig &b
e. allewL G flwalstensv

36. Who composed “Pancha Siddantika”, the five astronomical system?

a. Brahmagupta b. Varahamihira c. Aryabhatta
d. Subhandhu e. Answer not known
LUehs FHSHTHHST eIl bl aUTeT BUIed SIMLOLILSHM6T OFHTEHSH ST
a. Ugbo GUSIT b. auyramodyi c. oyl Lir
d. supbg e. alowL Oafluwalsvemev

37.  Who was the first Gupta ruler to issue silver coins?

a. Chandragupta-I b. Chandragupta II c. Samundragupta

d. Srigupta e. Answer not known

WPHeT (PpFHedled Oeusial HTewwdHensd Oeuefull L @GHLigh st wmir?

a. (IPFHeVTD FHAT GUST b. @yewimd FhHdy GLST C. FWPSHHT GLISHT
d. wfalisT e. alenL Gxfuwelsvened

38.  When was started Saka era?

a.78 A.D. b. 80 A.D. c. 100 A.D.
d. 120 A.D. e. Answer not known

LIOUTIDSH 5 Spewi(h OSHTLMISLILILL FHI7?

a. #l.. 78 b. &#.19. 80 c. &.9. 100
d. &.9. 120 e. alenL Gxfuwelsvenew

39. Harisena was the court poet of

a. Samudra Gupta b. Skanda Gupta c. Chandra Gupta II
d. Kumara Gupta e. Answer not known

amfNBxenT Seurdl Sieweull Ljeeu]

a. sHAT GLIS) b. ebephs GUST C. QaILTD #hdly GLS)
d. gy GUST e. alemL Gafluialsdenev
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40.  Which one of the following ports handled the North Indian trade during

the Gupta period?
a. Cambay b. Broach c. Tamralipi
d. Kalyan e. Answer not known

BPHHWIL.  SHIOB(PFHRIBEHOT  GLSTHMNGT  HTeVHHL L @AbIHumaied
UTeRILID BLHS HOBPHLD 61517

a. &mbBu b. uGym& C. SHTbTedrls

d. seduwimest e. alemL Ozfuwealsdensv

41. Identify the wrong statement.
i. Citizens enjoy full civil rights
ii. Citizens are members of the political community
iii. Citizens do not enjoy political rights
a.i andii b.ialone c.ii alone
d. iii alone e. Answer not known
SHOUBTE FnBedBSH H6WILBlH
1) GYwddeTr W FHaled o Menwsemen DiILIO]HSBTTEH6IT
1) odfwed FupssHHaT 2 mililearmaser
i) GwEHeT e o Manwsamen ieiUailiLgHledenev
a.i wmmp ii b. 1 o Bib C. ii 1oL (BID
d. iii o Bib e. alenL G fluwaievensv

42.  Consider the following
Assertion (A): Women who have been married to Indian citizens can
acquire Indian citizenship by means of Registration.
Reason (R): Citizenship Act was enacted in the year 1956 by Indian
Parliament.
a. Both (A) and (R) are true, (R) is the correct explanation of (A)
b. Both (A) and (R) are true, (R) is not the correct explanation of (A)
c. (A) is true, (R) is false
d. (A) is false, (R) is true
e. Answer not known
&BBI(A): @b GYdsmend SHmwenid CFUIH OsTaw GCueamseT LHey
CFuleug e cweuloTd AbHFHWS Glpuflenoenuits GILBeVTLD.
smyenid (R): @bHw  BrLmepaBSHHed 1956-0 uewi®  Glowflend &FLlL LD
BlenBCeummLILIL L .
a. aBmI(A) wpp smewd (R) SrewiGh 2 avewwr@l, saBRBEG(A)

snyend (R) eieiugy aflwner afendaomgLb.
b. aBmi(A) wBpd smyewd (R) SrewiGl o ewvienwwn@h, SBBG(A)
sngentd (R) eteiug sflwmer aflendsL0s060

c. aBml (A) 2 avewwwn@h smewb (R) seupr@d
d. sBm (A) seupreb, smed (R) 2 aenwwimgd
e. alowL G flwaledensv
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43. The Indian citizenship act was passed on

a. 1952 b. 1956 c. 1954

d. 1955 e. Answer not known

Obsw Guuflew gL HopGuBpliulL B 6157
a. 1952 b. 1956 c. 1954

d. 1955 e. alenL GxMuwelsvanew

44.  The Government of India issued the citizenship (Pondicherry) order in the

year

a. 1962 b. 1964 c. 1969 d. 1967 e. Answer not known
OhHU DPFTRSD GYdHHeT o Menw (UTewigFCaf) oememienul Geueriull L
2hewi(b

a. 1962 b. 1964 c. 1969 d. 1967 e. alewL Oxfwalsvenso

45.  The person shall be a citizen of India unless his citizenship terminated by
a. Voluntarily acquires citizenship of foreign state
b. Migrated to foreign state
c. Migrated to the territory of Pakistan
d. law enacted by the Parliament
e. Answer not known
ObHwsd Gujflend eeueumm UBSISSILUGL 6ueny DeUT GHHUES GYLOHEITS
S mLmit?
OeualBTL(hd Gleu|flenemul STemmsCeol GLIBMBTEL
CeualBTLI9B@& G b CUUITSH6D
LUTEHVSTIHG SL D CUUITHD
UTIT@EHLOIBL UL QuiBmpib Gurg)
alenL  G5flweledensv

T a0 o

46. According to the Citizenship Act how many ways have been prescribed
for acquiring citizenship?

a. 4 (four) b. 5 (five) c. 6 (six)

d. 7 (seven) e. Answer not known

Gwflend FUL G LIy edhHmer aufiseiled Glpujfleny GLmeLTLD?
a. BIeIS b. mbal C. oMl

d. g e. alowL Gxfuwelsvened

47.  In which year the name Madras was officially changed to Chennai?

a. 1990 b. 1993 c. 1996

d. 1999 e. Answer not known

SHITer0  elelil  CQUWIT CFeileneT 660l SDIH ST  LLTEUDTS  LOTHRBULLL  SLewih
oI1?

a. 1990 b. 1993 c. 1996

d. 1999 e. alenL GaMuialsteneo
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48. The formation of Kerala state was in the year
a. 1943 b. 1946 c. 1953 d. 1956 e. Answer not known

Gaenmm LOTHIGVD © (HEUTHSLUILL L  6U(HL LD
a. 1943 b. 1946 c. 1953 d. 1956 e. alewL Gafweaieveney

49.  The leader undertook a fast death for demanding separate Andhara State

was

a. Potti Sriramulu b. Potti Subharayalu c. T. Prakasam

d. Srinivasalu e. Answer not known

sl oubFHy  wipeod  Camil o ewiewmalysd @pbH 2 ulil  HHHEUT
ST

a. Qumiiy wfgmepeyl b. Qumig suyTWIE) C. 19- Uysmaib

d. nfhleurseyl e. oL OHflwalevamev

50.  Arunachal Pradesh became a full-fledged State on

a. 20 February 1987 b. 20 April 1987 c. 23 June 1987
d. 23 December 1987 e. Answer not known
OB SHewmFFeoll LFCHFID @b (PP LOTHIEVLDTS  LTBIWLG
a.20 digeud 1987 b. 20 griyed 1987 C.23 ggreir 1987
d. 23 19FbUT1987 e. alewL G fweaisdenev

51. Which of the following group constituted the State Reorganisation

Commission?
a. Pannikkar, Fazi Ali, Katju b. Fazl Ali, Pannikkar, Kunzru
c. Dhar, Fazl Ali, Pannikkar d. Kunzru, Katju, Dhar

e. Answer not known

LOTHI6VMIBET  SIELOLIL| DLENETULISHHE0 B DOILBB G 6157

a. uemiléaT, .".Lumed 960, &I eg° b. uged £169, LeBET, GH6erd(H
C. ST, ..UMed SI6Y, Ll d. @eerdm, &egr, HiT

e. alemL Ozfwailebensy

52.  Which Union Territory has its own elected Legislative Assembly?
a. Chandigarh b. Lakshadweep c. Puducherry

d. Daman and Diu e. Answer not known

&B1DE B 6L 6UBMI6N oD UL, 6ofluLI6aT yCsha1d & 60150 BIM D& BH6ITT6L
BxMbOHBeHSILL L. FLULIOGIBLD OBTewIL g

a. FeuwTIgHT b. el gsFa mel C. UalsbBa

d. Lmosst woppid ewLw, e, afenl Ggflwalsbensv

53.  Match the following;:

A. Jallianwala Bagh Massacre 1. 1922 February 5
B. Chauri Chaura incident 2.1919 April 13

C. Swaraj Party 3. 1930 March 12
D. Dandi March 4.1923 January 1
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e. Answer not known
SLPHBWILaUBenB  CUT(HEHHIS.

A. ogmedwiesr eumeumTLITS  LIGOBTen6D 1. 1922 Miyeufl 5

B. Qgenfl Qgenym MapgFd 2.1919 griged 13

C. awpmegeduis &1 g 3.1930 wmitg 12

D. sewiguinsgleny 4.1923 eeveufl 1
A B C D

a 3 1 2 4

b. 4 3 1 2

C. 1 2 3 4

d 2 1 4 3

e. alemL Ozflwaledensy

54. The plan of Non-Cooperation was approved by the Indian National
Congress in which session

Indian National Congress - Nagpur

Indian National Congress - Lahore

Indian National Congress - Mumbai

Indian National Congress - Chennai

. Answer not known

“Q&HBIMPWIT  Quidssd” uBpslu  HLLd  abhd BLHHe0  HeoL OBy

STHISIT0 OTHTL 1960 GMBIs OBTaTeniuL L Si.

a. @b Bzl sTRISTeD WIETG — BISHLLT

b. @pFHw Cxrdluw STHEIFTEO WTHTG — VT

c. @bsHw Cxdlw smmSFed WLIHTG — (WPLemL

d. @bdw Bxflw sTEIBTed WIHTH — CFeiener

e. alewL OFHfwalevenso

0 an o

55. In which two years Subash Chandra Bose was elected as the president of
the Indian National congress.
a. 1938 and 1939 b. 1930 and 1931 c. 1936 and 1937
d. 1944 and 1945 e. Answer not known
gutey ghaHy Gumerd GSmupeds GphHw CxFlu STHRST&HDHE SHMEVTTH
BaMbOHBeHSUILIL L. 601([HS6NT
a. 1938 wBmIb 1939 b. 1930 wBpIb 1931 c. 1936 wBmd 1937
d. 1944 wBmid 1945 e. alemL Ozfuealsoensv
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56. The ratio of the age of Meena and Meera is 4 : 3. The sum of their ages is
28 years. The ratio of their ages after 8 years will be
a.4:3 b.12:11 c.7:4

d.6:5 e. Answer not known

Weorm wpmid  Wymeler euwigk el&sbd 4 : 3. Seuisefer OTHs euuwigd 28
aiadlled 8 TBHEHHS LIBEG DleuToemer auuigh aldHD eTeres?

a.4:3 b.12:11 c.7:4

d.6:5 e. alewL Gafuwelsvenso

57.  The average mark obtained by 9 students was calculated to be 65. Later
on it was found that the mark of one student was wrongly read as 76
instead of 67. The correct average is:

a. 56 b. 64 c. 66

d. 74 e. Answer not known

9 wrewiauTeefler gymafl WHUIGUeET 65. @O 67 6leIm elewenilen oKL emest
SHUBIH6UTH 76 Tl HeWIHH60  IHHHIHOBTETEMILLL &I  6T6dfled  &Friluimet
Fyma  Srewnids?

a. 56 b. 64 c. 66

d. 74 e. alowL s fuwaledemev

58.  In a school having total students 286, the ratio of boys and girls is 8 : 5. If
22 more girls get admitted into the school, the ratio of boys and girls

become.
a.4:3 b.3:4 c.b5:6
d.6:5 e. Answer not known

Q(H UeTaluled o eiten GLOTHS LOTewTEUTHE6N elawmienlldbma 286 DiFHled o slten
SLENIH6T BMILD Cuewiseaier alalgd 8 : 5. Guwed YFHHTe 22 CU6IS6T
SlliueTaiuled  CFmWOUTINSH  DLewwid6T  OBEBID  CUETIBEHESBTRT  al&lHLD

BTG,
a.4:3 b.3:4 c.5:6
d.6:5 e. alowL Gxfuwelsvened

59. The greatest number of five digits which when divided by 3, 5, 8§, 12
leaves 2 as remainder is
a. 99960 b. 99962 c. 99972

d. 99942 e. Answer not known

T Waslouflw bgevds eeamement 3, 5, 8, 12 o0 auGdHGh Gurgl
alteureaied 158 2 HoLsd Sleubeuemienswid SHemiBLIL.

a. 99960 b. 99962 c. 99972

d. 99942 e. alewL Gafwelsvensy

60. The ratio of the income and to the expenditure of a family is 7 : 6. If the
income is Rs. 21,000, then the savings is
a. Rs. 6,000 b. Rs. 5,000 c. Rs. 3,000
d. Rs. 4,000 e. Answer not known
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H GOBLUSTHET auTasGHD OCFvaHGD BB o eten aldHd T 6
BLID auyey eh. 21,000 erefled CFLAlILY

a. ep. 6,000 b. ep. 5,000 C. 5. 3,000

d. em. 4,000 e. alenL GxMuwelsvanew

61. Second Round Table conference of 1931:
1. It was held during the reign of Lord Wellington as the viceroy of India.
2. It was represented by Gandhi on behalf of INC.
Which of the above statement is/are correct?
a. 1 only correct b. 2 only correct c. Both 1 and 2 correct

d. Neither 1 nor 2 e. Answer not known

1931 oib Syemnget @yewiLmeugdl eul L Goengy rmT(Hh:

1. GeuedmisLen Ly @phsHwralear eeledrmwTed SmbdH Gursl HenL CLBBESI.
2. @haw GCxpflw smmETFar UFHHHwTes SMhd  SDITHTLIQED  HeVHSI

(085 ITGUOTL_ITTT.
GuBsawiL. gnpmiseied eigi/ eteney Ffluwimerensu?
a. 1wl @ b. 2 i @b c.1 wBp 2

d. Iib &jevev, 210 evev €. alewl G fluwalsvenev

62. Name the great Indian leader known as “Bismarck of India” for his
services to India
a. Gandhi b. Nehru c. Sardar Patel
d. Rajendra Prasad e. Answer not known
ObhswrelBsres Csuis CFmausenssts “@bhsHwmalar  LedrTs” eyl
SIMPSHBLILLL. @HFHW  SHeneveuT

a. &b b. Gmm c. g ulGLed
d. @mGxpaly Lyans e. allewL Oxflwalevemnso
63. The provincial autonomy was the main recommendation of
a. Gandhiji b. Rajaji c. Gokhale
d. B G Tilak e. Answer not known
LOTHl6V SHevtenTL & 61T et Lysmer ufibgiemywns SmboHH
a. sMha b. gregmed) c. GanaBev
c. U.gg. glevs e. alemL Ogfwaledensv

64. In what session did congress declare complete Independence (Purna
Swaraj) as their goal
a. Lahore session 1929 b. Calcutta Session 1929
c. Lucknow session 1932 d. Delhi session 1932
e. Answer not known
abd STRHTD IOTalled (P SFHHHTHDSH  (LTeW  e0auITe))  SHSI
&N &CasTeans SlalshsHs!?
a. 1929 eumamT SiOTeY b. 1929 @e0dBHHT Si0T6Y
C. 1932 e&Bam S|DTa] d. 1932 GQLeVed SybTey
e. alewL Oz flwalsvenso
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65.  Which of the following is incorrect?

a. The Indian National Congress boycotted the First Round Table
Conference

b. Gandhiji attended the Second Round Table Conference

c. After the Second Round Table conference the Gandhi-Irwin pact was
signed

d. Communal Award was associated with Third Round Table Conference

e. Answer not known

LNedTeu(hHeueaTaUBNsled  SHeUMmTeTenal 6Teneu?

a. (Y360 aul LGweng IET mL @b Cardlw smmdyed LmssamisHsHdl

b. ampded SyewiLmeug eul L Goeng WOTHTL 1960 LKIGHBMIT.

C. @yawiLmeugl el L Goemg 1MET YBEG Ul &Mhdh - STelar  @UubsD
JMUL L G

d. ausliyeurs LNy S S SHGHleuLd CLPGITMBITLD aul L Goeng LomBTCLT(H
OHTLTemL WG

e. alemL Oxflwealsdenso

66. In which among the following is considered as the First Political Speech of
Gandhiji?
a. Banaras Hindu University Speech (BHU)
b. Dandi March Speech
c. First Round Table Conference Speech
d. Champaran Satyagraha Speech
e. Answer not known
SPHHTEID  CFTBOLTHeHaTe0 SThHAUWIgHMET (IPpH60 DTFUID 2 _6DJ 66T
LaLOLBBSI 6151?
LUemyerd @ha LeLSHmeVd s CFTBeumfey
Sy WrHFHeny OFTBoLTe
WFHeL L Gwengy BTG GFTBoLMLe,
FoUTm! FHHWTSHTS CFTBOLT L6y
alemL  OFflwealedenev

canow

67. Which candidate was defeated by Subhas Chandra Bose to become the
President of the Congress in 1939 Election?
a. Pattabhi Sitaramayya b. Jawaharlal Nehru
c. Rajendra Prasad d. Sardar Vallabhai Patel

e. Answer not known

1939-b emip CHTHedled auTad ghdly Cumed 6bhgh Geulumeneny CHTBHYHH
STRISTF T FHEN60EUTT6OITT?

a. ulLmi Fsmymouium b. meaamiteored Gm(h

c. gn8xbgly Uygsms d. gisrm eueveoumut LUGL 6L

e. alewL Oz flwalsvensv
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68.  Who was considered as “The high Priest of Communism” by the Britist

officials?

a. EM.S. Nambhoodripad b. M.N. Roy c. Jawaharla Nehru

d. Subhash Chandra Bose e. Answer not known

Ul ged  SeeleviseT wremy  “SuLeiFhHHear  Hmevenld G~ eleiy)
DML H60TIT?

a. EM.S. mibg i um’ b. M.N. gmu

C. MaIamTeVTeL Gh(TH d. sured ahHrGumerd

e. alowL G flwalsdensv

69. Gandhi got help from Sardar Patel to organise the no-tax campaign for the
peasants at
a. Gujarat b. Kheda c. Surat

d. Champaran e. Answer not known

aleusTuilseEndg 6m@G oaufl CFbstT BubsssHme gourh OFuw  FTHTT
UGLeILD BmhHEH STHFH 2 FHal CuBMTT.

a. GXTHFHe0 b. GsLn C. ®IH

d. sbuye e. alew G fwaisvenev

70.  Match the following

Party Founder

A. Swarantra Party 1. Sohan Singh Bhakna

B. Gadar Party 2. Motilal Nehru

C. Swaraj Party 3. C. Raja Gopalachari

D. Forward Bloc Party 4. Subash Chandra Bose
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 1 3 4 2

d. 3 1 2 4

e. Answer not known

CUT(HSHSHIS

;S [ 3I6160TLD

A. agpdyr sl g 1. Gommpenr mi L6t

B. saT a4 2. Guorglevmed Gm(m

C. awgmrggu &1 & 3. &. gy GamumeonFamifl

D. unfreul denmms L& 4. suted shHFHrGumerd
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 1 3 4 2

d. 3 1 2 4

e. allewL g flwalsvensv
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71.  Which of the following pair is/are not correctly matched?

1. Champaran Satyagraha - 1917

2. Kheda Satyagraha - 1927

3. Ahmedabad Mill Strike - 1918

4. Rowlatt Act Satyagraha - 1919

a.Only 1 b. Both 2 and 3 c. Only 2
d. Both 2 and 4 e. Answer not known

LeiteumueuBmieT QummbeHTeh Gmamg 61g)?

1. gmbugTewt &F&HHWTHFaHLD - 1917

2. Caam FHFWLTSITHLD - 1927

3. 9IBWLHTUTS Wed GaumeppISHd - 1918

4. gyl FLL FHHWTHTHLD - 1919

a. 1 @ b. 2 wBmid 3 Byewi(Hid C. 2 L (B
d. 2 Bm 4 e. alenL GxMuwelsvanew

72. Which of the following act was described by Jawaharlal Nehru as the
‘Charter of Slavery’?
a. Government of India Act of 1909
b. Government of India Act of 1919
c. Government of India Act of 1935
d. Government of India Act of 1947

e. Answer not known

BPHBTEID  FLLMIGHEMN60 61FH  DIQeDIDH6MeT LI LUWID 6T  236UaMBT6VM6D
Gmr(maiermed elleutlaasiiur L g ?

a. @pIw SPFTHIEF FLULID 1909 b. @pFHw SFTESSF FULD 1919

C. @bHw SFTRISE FLLLD 1935 d. @b owsThssF FULID 1947

e. alemL GFflwealedensv

73.  Consider the following events and find out the chronological sequence of
events
1. Chauri chaura incident
2. Russo - Japanese war
3. Gandhiji returned from South Africa
a.1,2,3 b.2,1,3 c.3,21
d.23,1 e. Answer not known
Leteu(heuesteuBmie &mev euflenaliLiguimet Hlabea smen CHiThHosM.
1. GQgenfl Qgenym H&HDF
2. gadw — grmeflw Gumir
3. &Mha OFeraTiifesTaled @ mbEH H(HLOLFH60

a.1,2,3 b.2,1,3 c.3,21
d.23,1 e. alenL GxMuwiealsvenew

74.  Which News Paper Published Gandhi’s Auto Biography?
a. Young India b. Harijan c. Nava Jeevan
d. Indian Opinion e. Answer not known
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smhHuler swgFflensenwl ebhsh Hrefad GCeuefull Lgi?
a. Wl @paur b. emfeges C. o 2366
d. @pdwer gualwea e el G MNuwaledenso

75.  The Indian National Movement of the first phase was called as
I. Period of Moderate Politics II. Tea-Party Politics
III. Political Mendicancy IV. Radical Politics
a. I only correct b. IT only correct
c. I, I and III only correct d. I, Ill and IV only correct

e. Answer not known
Obsw Capdlw smmdFevdlar (WHed SLLLD eeleuTn GSUIUILOUL L gI?

I. WsTugdseaier oFdfluied II. GxpT almba Syduisd
II. sopdwed BmehaizHed IV. peweriumer oydluied
a.l w’ @ g b.II w' @G &

c., I wppw I we o g d. L HI wspg IV wlGo &M
e. alewL Ozfuwalsvenso

76. The children’s dental programme launched by Tamil Nadu’s health
department is,
a. Milir b. Ilanagai c¢. Punnagai

d. Ezhil e. Answer not known

SODHIH  FHTHTTSHHIMBULTEO  OBHTLBRISULL BTN  (GHLHMBHHEHHSTE  LI6D
ugmoflidy S LLb,

a. el b. @b C. Leiaend

d. enflev e. el OFHflwalevemsv

77.  Cryptocurrency trading has been now brought under the ambit of,
Prevention of Money Laundering Act, 2002

Foreign Contribution (Regulation) Act, 2010

Information Technology Act, 2000

Income - tax Act, 1961

. Answer not known

SMuGLm Hyeid] AUTHSHBLD SBGUTE oMb FLLSFl60t &P
OamentHeurLiLL (HeiTeng)?

a. ueGorgy sELIYF FUL LD, 2002

b. Gaefpm G PSS (RUoBIGIPemMB) FLULib, 2010

C. &6aUeL OFMPeomI LF UL 1b, 2000

d. eumwomenr euflF &gl Lib, 1961

e. allewL g flwalsensv

oo o
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78.  Identity the correct statements.
1. Green National Highways corridor project is to be launched by the
government of India in four states.
2. It aims to promote the use of green technologies and climate resilience
3. This project is to be funded by Asian Development Bank
a.1land 2 only b. 2 only c. 2 and 3 only

d. All the above e. Answer not known

gflwmer gBBIGm6Nd &6l .

1. @paHu &, BTSIG WTHeomseled usmn ChFAw CHBEhaTmsv MNHIHL &
FHLLHMSH CFweoLhSHSH 2 6iTeng).

2. @5F LD usmn  OHTPOEBHIL LD  OBBID  STeVHene0  L56ITSH6sTenLoU 60T
vweruT L. Crprésonsd OB Teni(heiTendi.

a. 1 wmmb 2 1w’ Bib b. 2 w G C. 2 1oBmIb 3 wl B

d. GuBampu SIMIHHID e. el Oxflwalevemsv

79.  Which airport is titled “World’s best airport 2023"?

a. New Delhi b. Dubai c. Tokyo

d. Singapore e. Answer not known

ahe QlomTe Hlemeowlld o eudlenr WHEF Fpphs allomer BHleneowld 2023 66yl
SNlelsslIUL (Beiteng)?

a. ysl GLeved b. gumul c. GLr&aAGWT

d. Fmisiiyf e. alemL Ggfwealsdenev

80. Australia based Deakin and Wollongong Universities are to set up Indian
campuses in,

a. Gandhinagar b. Pune c. Bengaluru

d. Noida e. Answer not known

S0 FHCrellwimeneudF Gsib s N300 LOBMILD GourGeommiGasTmI
LIGO& M6V BIPSEISHET BHAHWITAND GUGTTEHRIBMET DINLOSHH6|6ITeN @)L LD,

a. SMhAH BB b. LGer C. QUITIBETH(H

d. Gmmuim e. allewL  Oxflwalevemnso

81. Consider the following statements.

1. International Dharma Dhamma conference was held in Patna

2. The theme of the conference was “Eastern Humanism for the New
Era”.

3. It aims to bring together religious political and thought leaders from
Dharma - Dhamma traditions.

Which of the above statements is/are true?

a.1land 2 only b. 2 and 3 only c.1and 3 only

d. All the above e. Answer not known
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LN6TeU(HLD SnBMIBHM6T SLUIS.

1. gTeuBms& SHToT ST WIHTEH UTL IMaled Bl CLIMBBG.

2. @6 SHUOUTHeT “UHwl FHTUSHHMBITR HpdbsHHW  welgd GCruid’
UG LD.

3. 83 &M - st wyysmend BFbhs 106, SFuied WwBDID FhHemers
HMELATHM6N QSIMBlMeILILINS CHTHBIOTHS 6B T (BTN HI.

GuBammu smppiseiey gfwmeaemel egl/ eTeneu?

a. 1 wmmb 2 1w’ Bib b. 2 wBmib 3 WL G c. 1 1Bmub 3 wl B

d. CuBampPuw SmarsaHin e. ol OHflualsdensy

9

82. The One World TB summit 2023 took place in,

a. Ahmedabad b. Varanasi c. Chennai
d. Jaipur e. Answer not known

081 o svab &TFCpTul o &4 IETH 2023 HOLOUBB SLLb,

a. SIBSHTLTG b. eumyewird C. Gaeireneo
d. QgguiyT e. alewL Gxfwalsvenev

83. The first woman officer in the Indian Air Force to take over the command
of a frontline combat unit,
a. Shaliza Dhami b. Deepak Misra c. Avani Chaturvedi

d. Mohana Singh e. Answer not known

(eitevtenll  GumnT  LNfleydb@ Hmevenld SHTEIGuUSBHTE BHiTey QUi L
BhgHul aflomerl UsL_uler (WwHeo Guewt &igsmifl,

a. egmellgm Sl b. Sus Werdgm C. oleuent FaHITCug)

d. Gursemm s e. alenL Oxflwalsvenso

84. Indian Air Force have participated in Exercise Cobra warrior in the

a. France b. Finland c. Sweden

d. United Kingdom e. Answer not known

@bhgw afloreriuen, UkGuBs Csmigm eurflwiT LuiBd HenLOuBB @)L LD,
a. Lymesterd b. . .dereonba C. eroafLeir

d. ;maslw Guyys e. alen Gxfwaisvenev

85.  Identify the correct statements
1. Porter Prize 2023 was conferred recently to the Indian government’s
Union ministry of Home Affairs.
2. It recognised India’s successful delivery of more than 2.5 billion doses
of Covid- 19 vaccines.
a.1only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

gflwmer gBBIGm6nd SHeurL .

1. GumriLT ufls 2023, @haw odlar Qe o 6HMB DIMLFFSHIHBES
GULPMRIBLILIL (H6IT6IT].

2. @8z 25 Uevadwenssld igswmer Camall -19 sblydsemer @b
CouBMlaToTs aUPHIS WS DRSS ISHHI6TNSH.
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86.

87.

88.

89.

90.

a. 1 1o’ B b. 2 w @b c. 1 iBmub 2 @yewi(hid
d. 1 wBmb 2 GyesBLe06V e. el Oxflwalevemsv

A Father said to his son, "I was as old as you are at the present at the time
of your birth. If the father's age is 64 years. Now, the son's age 6 years
back was:

a. 26 b. 24 c. 32

d. 30 e. Answer not known

FHHMSH DHENLID FmPIWSToUH, “BSIM 2 6T euuldl 6eeareCeaut, SibFH WG b
LImbSHEUTIDSI 6Tenndh@~ 6lal dnplenmT. HhenHuler SBOLTMSHW euwIH 64 6163160
6 UMBLSHMBE (LPeITL] OB GUUIZI 61660

a. 26 b. 24 c. 32

d. 30 e. alewL Gafuweisvenso

Two numbers are in the ratio 5 : 7 and their LCM is 315, their product is:
a. 2358 b. 2538 c. 2835

d. 2875 e. Answer not known

Byewi(h elewidel 5 : 7 eleip alFHHIHe0 o eitenier.  Deummle LCM 315
61601160, SjeuBmlen  GILIHEBHBLIGVE:

a. 2358 b. 2538 c. 2835

d. 2875 e. alewL  Gzfuealsdenev

If x:y=7:4, then (8x + 5y) : (12x + 3y) is...

a. 19:12 b. 17:19 c. 19:24
d. 24:19 e. Answer not known

X1y =7:4eafed (8x + 5y) : (12x + 3y) &1 wHIL ST6wTIH
a. 19:12 b. 17:19 c. 19:24
d. 24:19 e. alewL Gafwelsvensv

The average of first 10 natural number is

a.b5b b. 4.5 c.b
d. 6.5 e. Answer not known

WPHev 10 Buied erewisement Fymal

a.b5b b. 4.5 c.b
d. 6.5 e. alewL Gafwelsvensv

Find the HCF and LCM of the numbers 154, 198 and 286.
a.22,18018 b. 154, 18018 c. 18018, 22

d. 191, 18018 e. Answer not known
154, 198 oBmIb 286 LBl 6T Ehdh@ L5.0UT.SM. WwBHID L5.0UT.0. HT6ewTs.
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a.22,18018 b. 154, 18018 c. 18018, 22
d. 191, 18018 e. alenL Gzfuelsoensw

91. The first athlete to win BBC Indian sportswoman of the year twice in a

row,
a. Mirabai Chanu b. Sakshi Malik c. Lovlina Borgohain
d. P.V. Sindhu e. Answer not known

e TFdwnrs @resi® SpeuiBser LINd @b elemenwiml (h  eiyTmisene
al(hend Ui (LPFH6eL GITHIGHEET,

a. grumul gmenl b, gmdHad wrels C. evaledem GumT@sHTOQMUI6sT
d. Vel dpgl e. allewL  OFflwalevenso

92.  Identify the correct statements.
1. India is ranked 13t on the Global Terrorism index.
2. Iraq is the country most impacted by terrorism.
a. 1 only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

Fgflwmer FBBIGm6Nd  &H6uTL NS,

1. o euaammal LWRISTTSHS GBUIL e @HIHWT 136ugkH BLSHFHe0 2 slTengl.
2. LWRISTOUTHSHIHT0 DH SO UTHSSLILULL BTLTS FJTdH 266Nl

a. 1 ' @ b. 2 wl G

c. 1 wBpb 2 @rewi(Bd d. 1 oBmib 2 ByesBLe06V

e. allewL G fluailsdensv

93. India’s rank in Electoral Democracy Index 2023,

a. 167 b. 108 c.13 d. 144 e. Answer not known
BaxTaped epTwas GBUIG 2023 syeauflnsulsd @hsHwimalear L Lb,
a. 167 b. 108 c. 13 d. 144 e. allenL Qg flwalsdensv

94.  Arrange the following states in ascending order based on their literacy

rate.

1. Bihar 2. Kerala 3. Arunachal Pradesh

4. Mizoram 5. Tamil Nadu

a.1-5-3-4-2 b.1-4-3-5-2 c.1-3-5-4-2
d1-3-4-2-5 e. Answer not known

Meiteu(pd  OTHleVmIBmeN  SlauBBledt  el(pHSBey  alFHHMFHL  OLUTBISHSHI
JBIauMenFLILIBSHSHIS.

1. st 2. Gayenm 3. olmewT&Fgev LITGxHaLb

4. 10G@amyLD 4. FODBTH

a.1-5-3-4-2 b.1-4-3-5-2 c.1-3-5-4-2
d1-3-4-2-5 e. el Oxflwalevemev

95. The states that have made maximum progress towards clean electricity
transition,
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a. Kerala and Tamil Nadu b. Tamil Nadu and Maharashtra

c. Rajasthan and Gujarat d. Karnataka and Gujarat

e. Answer not known

ugemwTer el  SBBe0  WLIBBHH0 DFSULF  (PaiCaIBBL DML HS
LOMHI6VMRIG 6T,

a. Gayenm B®ID SLODHTH b. I01DHETG WBEID  WSTFTOUQTT

C. BITReVHTE BBID GIrdh d. SIHTLST WBEID GRS

e. alowL G flwalsdensv

96. Indians who have won gold medal in the IBA Women’s Boxing World
Championship 2023,
1. Nitu Ghanghas
2. Saweety Boora
3. Nikhat Zareen
4. Lovlina Borgohain
a.1land 3 only b.2 and 4 only c.1,2 and 4 only

d. All the above e. Answer not known
;Mg WwselT GHSHHFFmimL 2 606 gmbliaadll 2023 Cumipsefled HhisLl
USHSHLD Oeueis DbFH Ul GHHBIFFTENL ATJTHIHENDIHEIT,

B&H BRIBTEN

Feillg LT

pardh mafer

Beumeiiedlenm CUTTGHTEM QB 6GT

1 BpLd 3w G b. 2 wBmIb 4 w GO c. 1, 2 wBmidb 4 Wl (Bd
. CuBHauiL. SimarHHIb €. ol Cgfluialstemev

97. IBA Women’s Boxing World Championship 2023 was held in

Qo k-

a. New Delhi b. Bhubaneswar c. Karnal
d. Imphal e. Answer not known

omUg el GHHFFmmL 2 05 FTbLweagll 2023 HoLOUBB SLLb,

a. Uysl OLe0ed b. LeuGeageui C. HITEIM6D
d. ®bumed e. allewL  OFflwaledenso

98. The common name of Gymnothorax tamilnaduensis discovered by ICAR
is,
a. Nilgiri marten b. Madurai Skink
c. Tamil Nadu Brown Moray eel d. Nagapattinam sea horse
e. Answer not known
ICAR - o160 samipliygssiu’ L o5ibGamBsmynded SHODBTHOWeTEerd  -65T
CUTEHILIELIWIT,
a. Beudf  &(HIORIHE b. wgiemy Siyenest
c. sOpETH uwptiy Gur@y afleormig d. preiu’yend sLBEGHemy
e. alowL G flwalsdensv
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9.

100.

101.

102.

Asia’s largest four - metre Liquid Mirror telescope was recently
inaugurated in,

a. Tamil Nadu b. Uttarkhand c. Sikkim

d. Arunachal Pradesh e. Answer not known

FiusHHe0 pFwmaler WsLEOUfW BTeT@ WLLT SHyeu Siipdh CFHTenevCHTHa
FHmsHLILL (Beitem &L LD,

a. sOWETH b. o_gaysmemi’ c. fadlb

d. smpemsser LIFBxHaD e. alowL G flwaledensv

Identify the rightly matched newly discovered species with their common
names

1. Mimeusemia Ceylonica - Moray eels

2. Cyrtopodion Vindhya - Naked - toed gecko

3. Trichrysis poseidonia - Cuckoo wasp

a.1land 2 only b. 2 and 3 only c.1and 3 only
d. None of the above e. Answer not known

Ueieumd UHHTe SenibUlpdsiiulL  FBplammsenLer Flwms  LmbhaueTen
OUTEHILIGLIWITHMmETE 6L 15.

1. el Bxlwr FHBsvmenilamm - Gom@y  allevnmiE,

2. ABLrGumowie albglwm - Goumid &T60 - OBHEHT

3. 1pfaMdflerd GurHGLmefluum - BTHBT G 6nal

a. 1 Bmib 2 G b. 2 wBmb 3 w ED ¢ 1 BB 3 W HD

d. GuBampuw egaufeoemey  e. el OFfluialsvamev

Identify the correct statements.

1. NISAR is an Earth observation Satellite.

2. NISAR refers to NASA - ISRO synthetic Aperture Radar.

a.1lonly b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

gllwmenr gBBIGmend SHewiL .

1. @Bl aeaiug @b Ul senismenllll] CFwumenssGamer ou@Lb.

2. mlamm (NISAR) eeiug mrem - QeoGym Qawmens giewen GILAT eIaLINS
Glull:ed otk

a. 1 wl (B b. 2 w G c. 1 iBmub 2 Syewi(Bid

d. 1 oBmb 2 ByesBLe06ev e. alen Gxfwaisvenev

The fossils of world’s first pollinators called “tillyardembiids” were
discovered in,

a. China b. Egypt c. Russia

d. Germany e. Answer not known

2 I (IPpHe0 WEHIHS GCFThensd LFFwmslul “HeowimoLrenul 60 -6 LoD
LIQLOMIS6T &6l (BLIQESSLILL L EL LD,

a. e b. ez C. Jeguim

d. OgmGiwe e. alen Gxflwalsvenev
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103.

104.

105.

106.

The theme of world wildlife day 2023 is,
Partnerships for wildlife conservation
Sustaining all life on earth

The future of wildlife is on our hands

Big cats - predators under threat

. Answer not known

2 & auaalevmG Herd 2023-8eir HHLUCLM(HEIT,
a. euemallevmid UTHISTUIBETET Fnl (h

b. 2 owda Smaishg 2 ulTHM6TUD BT&H5H6e0

c. ouenr o ulimerflein 61FHTHT6VD HID MSBHH6N60

d. GuplbymenseT - SIFGFDIHHI@ S Gaul L all6VmkIEH6.
e. allewL g flwailstenev

°©on o

World water day is celebrated on,

a. March 3 b. March 14 c. March 22
d. March 31 e. Answer not known

2 VB HEWIEwIT FHleorld OBTeRIL TG [HT6NT,

a. g 3 b. writeg 14 C. AmTgF 22
d. wrrg 31 e. alenL G flwaievenev

Consider the following

Assertion (A): March 23t is observed as Shaheed Diwas.

Reason (R): Bhagat Singh, Sukhdev and Rajguru were executed on March
23,1932

a. Both (A) and (R) are true and (R) is the correct explanation of (A).

b. Both (A) and (R) are true but (R) is not the correct explanation of (A).

c. Both (A) and (R) are false

d. (A) is true but (R) are false

e. Answer not known

LevTeu(HeUGTAIMBeNMm  DLUISH.

&Bm (A):  wrF 23 Hundser Henors SaFfsasiubBSBsl.

aryewid (R): usshdm, @&$Cxmel 1oBEmID JrdEm  opdCwinm  wrrg 23, 1932
SISTM HITEHSOIL_LILIL L 6dTT.

a. (A) wppiw (R) Gyewiw s Guwebd (R), (A) el aflwrer alendsomgLb.
b. (A) B (R) GremiG af opemmed (R), (A) alBe sfwmer alendasiosen

c. (A) wppib (R) SyemiGL Heum

d. (A) #f syemed (R) seupi

e. alemL Ozfwalsensn

Renowned Carnatic vocalist who is chosen for Sangitha Kalanidhi award
2023,

a. Sangeetha Sivakumar b. Bombay Jayashri c. T. M. Krishna

d. Sudha Ragunathan  e. Answer not known
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107.

108.

109.

110.

2023 oD  HEWIYBHTRT  FRISSH HUTHSH  alhBHsGH BCHTHOHHHBILIL (HeiTer
UsOUBB SHTHTLS BengFHHemeVEhHT,

a. FRISHT FeuGLomT b. umbGu Ggguunf C. 19.6TLD. &Hl(HAZ6HIT

d. &1 1&BISHE e. el Oxflwalevemsv

The state that has recorded maximum growth in GST’s February 2023
collection,

a. Tamil Nadu b. Maharashtra c. Uttar Pradesh
d. Gujarat e. Answer not known

Migeudl 2023 @60 oIHaULF 2deledly IEH60 GUATEFS SlenL[H& LOMHIGULD,
a. OIPHTH b. w&rgTadgyT c. 2 535 LyBsaib
d. emuns e. el Oxflwalevemsv

India’s digital payments market is projected to be more than $10 trillion

by,
a. 2025 b. 2030 c. 2026 d. 2028 e. Answer not known
ShHwmaler i Led uew UfleuTHHmen FhHhond &6 10  19flebedluien

LTeOTE@GIHEE GUN(HLD 616l SHe0NleBUILIL (HeTT6NG).
a. 2025 b. 2030 c. 2026 d. 2028 e. alewL O fwalsvenso

The first to swim from Gateway of India to Elephanta caves.

a. Rizwana b. Sajam Prakash c. Geeta Rana
d. Krishna Prakash e. Answer not known
Cx Bou ot @bsHwmaledphal 6160.". QUEILT GHmBHEG BhIHW (PHeL HLUIT,
a. Merveumentt b. sxear Lysras C. &HT JIeuwIT
d. Amagewm LysTad e. alen Gxfwaisvenev
Match the following
A. National Vaccine Day 1. March 23
B. National Safety Day 2. March 16
C. World TB Day 3. March 24
D. World Meteorological Day 4. March 14
A B C D
a. 2 4 3 1
b. 2 3 1 4
C. 3 4 2 1
d. 1 2 3 4
e. Answer not known
LedTeu(heuaTeuBenmll  GLIT(HHHIS.
A. Bxdw spLUYT Herd 1. T 23
B. Gaflw urgismiy Hebd 2. & 16
C. 2 v &156HTUI Heotd 3. o 24
D. 2 08 auneafleney glebd 4. & 4
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111.

112.

113.

A B C D
a 2 4 3 1
b. 2 3 1 4
C. 3 4 2 1
d 1 2 3 4
e. allewl G flwailsvenesv
Match the Following
A. Micro-economics 1. New - natal care
B. Macro-economics 2. Per capita income
C. Developmental economics 3. Income theory
D. Health economics 4. Value theory
A B C D
a. 3 4 1 2
b. 1 2 3 4
C. 4 3 2 1
d 4 3 1 2

e. Answer not known
Ledteu(heueieuBenmll GLImHSHaHIs

A. miewieniuied GQuUIT(HeIuIed 1. uEFHembd GLHENDH [HEVEHT
B. Guflwed Gummeriuied 2. H6UT GU(HLOT6ILD
C. eauen&d]l QUITHEMTSHTTLD 3. au@meumul Gsmlum(
D. ssrsml QuUTheTTSIywn 4. wHUN B CasTiur®h
A B C D
a 3 4 1 2
b. 1 2 3 4
C. 4 3 2 1
d 4 3 1 2
e. alemL Ozfwalebensv
Which among the following is not a main factor of production?
a. Land b. Labour c. Capital
d. Product e. Answer not known
Lereu(heusstouBpsled 618 o MuSHHulet (phdHul STyeni Ojevev?
a. Hlevtd b. o enipriy C. CLPELSHEITLD
d. swmfliy e. alewL Gafwelsvensv
Gross value added (GVA) is equal to
a. GDP + subsidies - tax b. GDP - subsidies + tax
c. GDP - at factor cost d. GDP at market price

e. Answer not known
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114.

115.

116.

117.

QTHE WHIY aEBHeo (GVA) eeugl,

a. GDP + wreflwid - euflseit  b. GDP — wreflwb + euflseit
c. smyeni GQFevalev GDP c. gbms alemeouied GDP

e. alemL Ozflwaledensv

Identify the correct statements from the following

1. GDP deflator is an index of price changes of goods and services
included in GDP

2. GDP deflator = (Nominal GDP/Real GDP) x 100

3. It helps to identity inflation

4. The base year of GDP deflator is 2011-12

a.1land 2 only b. 2 and 3 only c. All the above

d.1, 2 and 3 only e. Answer not known

LTedteu(mHeueteuBmien Fhlwmen SnBmIbenend &L sle

1. GDP @eplurer eeig GDP  ulled @i’ Beiten  g7dH@ — oBHID
Bremeumeriiasr allewsy LOTHBM GHBIUTL O 6WT SLGLD.

2. GDP @ewmpliuresr = (uewiogliinyy GDP/ o _ewiewio GDP) x 100

3. B3 uaalbsHmBHE HWLBUl 2 HaFBH

4. GDP @enplriurefet ougliien. 6w 2011-12 gy@id

a. 1 wBmb 2 W' B b. 2 wBmib 3 WL ED c. CuBampPu SimIHSHID
d. 1, 2 wBpid 3 wGEb e. ool Gsfuwalsdamed

Which of the following is an example of indirect tax?

a. Corporate tax b. Income tax c. Capital gains tax

d. Entertainment tax e. Answer not known

LedTeu(heueTeuBmIeT LoMB(WE aufldbarer IBHHISHHT B 6157

a. mimieuest eurfl b. aumomer eufl C. (VST ST 6urf]

d. Qurupsl Gursg el e. el GMuielsvenew

Ifa:b=2:3,b:c=5:7thena:b:cis

a.10:21:15 b.15:10: 21 c.10:15:21
d.21:10:15 e. Answer not known
a:b=2:3,b:c=5:7 aafed a:b:cer wdli

a.10:21:15 b.15:10: 21 c.10:15:21
d.21:10:15 e. alenL Gxfuwelsvenew

Traffic lights at three different junctions change simultaneously at
morning 8.00 am. The first light changes once in 30 seconds, the second
once in 72 seconds, the third once in 45 seconds. After 8.00am which is
the next time they change simultaneously?

a. 8.03 am b. 8.06am c.8.10 am

d.8.12 am e. Answer not known

30 | Page PH: 044 - 24339436, 42867555, 9840226187



118.

1109.

120.

epiml OeusiGoum FTemev FHFIILB6MN60 © 6iTem FTeweL LITHISBTIL| a6 @G H6l
aremev 8.00 wewlldsd @8y GrrHzled WTBBLL Samer.  cpearmid (pewpGui 30
alemgdh@ @ &SI, 72 alemgsE® @ HID, 45 alemedsd @  HIWD
wrpFemser.  &Tenev 8.00 wewildh@ Uey  Wewi(hd @UDePSIBILD  6TIGILIT(LDSI
@Gy FLWHIHe0 OTHID?

a. 8.03 am b. 8.06am c.8.10 am

d. 812 am e. alewL Gafuweaisvensy

The average age of 50 students in 10thstd class is 15 years. 10 more
students are admitted a fresh in the class and the average age is increased
by 0.5 years. The average age of the newly jointed students is

a.15 b. 16 c.17

d. 18 e. Answer not known

10-b  eugly omewimdhsTsefler 50 Gufler ggmafl o@meneu 15 SGLD. 10
wreomehaTaer UHsTe Gambsiul L et  ggrafl  oi@mewer 0.5  Lewi®h
DIFaMNHeH. UHHTe GaFTdblulL  oTenaToeler symal Sibemeu

a.15 b. 16 c. 17

d. 18 e. alewL Gxfuelsvenew

If the HCF of two positive integers is 1 then what will be the two
numbers?

a. Relatively prime

b. At least one of them must be a Prime number

c. Both are even numbers

d. One is the multiple of the other

e. Answer not known

Bm Hms (Wpupdbseie WL OUTEH aGHHdH 1 eeled Sieual(h 6T6emISHENhLD
oTRIUTH SINIPHBLILIHBLD?

a. oeIRl(H 6I6WIHEHID FTTLIST 616001561

b. @m ecewiewITOUSH LSBT elewieniTd O(HbD GauewiBLd

C. ®p 6IWIBEHD SJL DL 6160IH6IT

d. @ erexwTewiedn DL MBI LOBOWT(H 6TewT

e. alemL Ozfwailebensv

In 30 litres mixture of acid the ratio of acid and water is 2 : 3. What

amount of water should be added to the mixture so that the ratio of
acid and water becomes 2 : 5.

a. 19 litres b. 15 litres c. 12 litres

d. 10 litres e. Answer not known

30 ILLT o 6Ten SIflevd SHeveweuuled Sfleod, [Hifledr aldlHd 2 3.

B HHe06m6 2 5 e eldsHHHeo Subleopd BB DHES CFTHd
Gouemtigus mHifledr Sjemey  6T6sTEN 7

a. 19 & b. 15 &Lt c. 12e00 L

d. 10 e e. alemL Ozfuelsoensv
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121.

122.

123.

Identify the correctly matched pairs in currency

1. Cash Deposit Ratio - Ratio of money held by public in currency to
money held in bank deposits

2. Cash Reserve Ratio - Fraction of deposits bank must keep with RBI

3. Statutory Liquidity Ratio - Fraction of deposits of RBI in commercial
banks

a.1land 2 only b. 2 and 3 only c.1and 3 only

d. All the above e. Answer not known

gflwrsll QUTHHSHU6TEN EenewTHM6NTSH BH6uTL N5lD

1. Qyrés el al&HD - CUIHILSHT mBUlD MUSHHIGWD  CITdHEs
LeISHHMBESD 6UmIS MaUlLSHEHHGSWD 2 6iTen aldFHLd

2. g @iy aldlsd - RBI uled eaumidser meaudsdHmss  GCousmngul
GM6ULIL|B6IT

3. FlLyTel Bieww aldsmbd - elemid aumidselsd RBI eneusdmeds Geuemgul
6M6ULIL| 6T

a. 1 Bmib 2 Wl B b. 2 wBmib 3 w G c. 1 wBpib 3 w B

d. GuBaawi. SIS e. alomL OHfuialedemed

Budget deficit can be defined as,

a. Fiscal deficit + government’s market borrowings and liabilities
b. Fiscal deficit - Interest payments

c. Revenue expenditure - Revenue receipts

d. Total expenditure - Total receipts

e. Answer not known

augey OFeveysh FHILLULBBTHGSMMB 6ITLSI

a. PHU UBPTEGmB + SPFler FHmHS HLEIHET
b. PHU UBBTEGMB - QFISSHILLL 61y

C. aumeUTUl GFevallerld - aUhHeUTUI 6UF6)

d. Gurss GFeveled - QLTHHID euFe]

e. alewL Oz flwalsvensv

Physical Quality of Life Index was developed by

a. Morris D Morris b. Tony Allen c. Mahbub - ul - Hag
d. UNDP e. Answer not known
UTDHMBHST SBIUIL B 6T60Tenem 2 (HeUToHBIWIH
a. Guomflerd 19 Guomflerd b. GLral syeves C. wampyll - 2 6 -amd

d. mpm euenigdls SHLiw e. alewl Ggflwalsdensv
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124.

125.

126.

127.

Which of the following are the criteria for a PSE to be granted Maharatna
status?

1. Annual turnover of 30,000 crore for 3 years

2. Annual net worth of 20,000 crore for 3 years

3. Annual net profit of 2,500 crore for 3 years

4. Listed on Indian stock exchange

a.1land 2 only b. 3 and 4 only c. 3 only

d. All the above e. Answer not known

UeiTeubeiameuBuie, @b OUTSISSINBE BBIMSIBEG WSSO  SibH0SH!
QULDMRIGHUSDBHTET DIQLILML S HSHHH6IT 6Teneu?

1. cpeiBreni(beEndE@ e6albeumm SuewiBld 30,000 Camy elBumeT Si6ne)

2. peIBTNI(hHEHEEG @t SLemiGL 20,000 Gsmy GoTsHg WS

3. pSIBTIHBEDHDHE @aIOeuT(H LewiGd 2,500 Gsmg BT 60TLILD

4. @phHWU uUmEG FhHesulled B IbCUBMI(HHSH60

a. 1 wmBmb 2 ' G b. 3 wBmb 4 w G Cc. 3 wl (Wb

d. CupseawiL SwarhHID €. alomL g flwalsienen

The Balance of Payment refers to,

a. Difference between household spending and income

b. Difference between government spending and income

c. Difference between inflation and unemployment

d. Economic transactions between a country and the rest of the world
e. Answer not known

Carsal Hewev (BOP) eeiuigi

aipseiar GFeab@HD BLTAISHBGHD 2 6en alHHumad

SPFTHS OFualalSHBESGL aumHaTUSGD L Bu 2 e6Ten alsHHwTaLd
uenieissS5HBGHD Ceauensoulaienod@ld o eitem GeupiLim®

. QU BTLYBSL o odlal BFH UGHIHBEHSGWD BenL Guiwimer GUITHETTSHTY
LIfl6uT &3 emearb6iT

e. alemL Ozfwalsdensn

on o

If we weigh the excellence of a benefit which is conferred without
weighing the return, it is larger than the

a. pavvam b. aarkali c. kadal

d. all of these e. Answer not known

BeTdl LW  SHMLSGD  eTIml  SLITWTIOED  @(heuel  GFuls o gHelule
S|GOTL |6 6DLOGDUI SLTWIHSHTED  DIHGT  [HETENLD iUl
OUINWSTELD.

a. Guereud b. syi®ed C. &L6V

d. @mal SEmaTSHHID e. el Oz fwealsoamsn

The wise will remember throughout their the love of those who
have wiped away their affliction

a. this birth b. seven-fold births c. next birth

d. none of these d. Answer not known
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128.

129.

SlpemLwl  FHSLUHmsd Curdhasl o selweufler HLemU eGHHemer LIBLiLSHere0
wmeuTioed CummmieuT CuURGuImT?

a. ®UIBriied L Bib b. gup Ymiy Czmmib

C. 9Ib5s LIsliled L (Bid d. @ma ggIdevemen

e. alenL g flwaledensv

Consider the following

Assertion (A): It is not good to forget a benefit

Reason (R): it is good to forget an injury even in the very moment

a. A and R are true R is the correct explanation of A

b. A and R are true R is not the correct explanation of A

c. A true but R false

d. A false butR true

e. Answer not known

LeTeu(heuemeuBens iUl

a&Bp (A)  : @meuT (e QFUIH HTemmL LBLLS DB DieTs)
smyend (R): oeut QFuis Somwemw SLEUTRGSH BLILS B DG LD
a. (A) wppw (R) sf Gweubd (R) eeiug (A)seg sfwren ealenssomgLD
b. (A) wppid (R) &M Gweid (R) eeiug (A)sg aflwrer alemdsoseo
c. (A) i spemmed (R) soumi

d. (A) seump syemmed (R) &l

e. alewL g fwailsemev

Choose the apt Kural for the following meaning
Though one inflict an injury great as murder, it will perish before the
thought of one benefit (formerly) conferred
a. Who every good have killed, may yet destruction flee;
Who 'benefit' has killed, that man shall ne'er 'scape free
b. Effaced straightway is deadliest injury,
By thought of one kind act in days gone by
c. A timely benefit, -though thing of little worth,
The gift itself, -in excellence transcends the earth
d. 'Tis never good to let the thought of good things done thee pass away;
Of things not good, 'tis good to rid thy memory that very day
e. Answer not known
“war 2 _gal GeuisaT Uiy QsramrT Gurais siaiLsSmeE CFUISTITEITID,
ST (WP QFUIH Q@H [HAOLMU HMTSSTVID DbHHSH Sleld BB’
GIAILINS 2 _WITHBHID GBET Wrgl?
a. eIbBe OSTEIBITSGLD © UWIeemLTD 2 UIale0enev
CEWIbHe OCHTEID LOBBE.
b. Garamaier S QFulaid STOFUIS
QEIWIBOIH 2 _6iend 6B HLD.
C. &MV emBOFuls Hens Fpsiogketenid
6hTevSH e Lomewill GLfgl.
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130.

131.

132.

133.

d. meins wBLUG HSMBETH HEIBEV6OH!
SIGB  BLILIG! HESTHI.
e. alemL Gz flualsvenso

soRkoattam illadhu seppam orudhalaiyaa

utkoattam inmai peRin

In this Kural the term seppam means

a. Flexibility b. Inflexibility c. Language

d. None of these e. Answer not known
CaTRCaT LD Bs0evg OFUILD @HHEmEOUIT

o2 'Gasm LD Betenid GLpsesr

Bas@mened GFLIUD eleTUHeT QUT(HET WTg?

a. GaramisHen b. BEBemevemLD c. Gwmp
d. eremeuujfisbemnev e. alemL Ozfuwealsdensv

If justice, failing not, its quality maintain,
Giving to each his due, -'tis man's one highest gain

This Kural comes under chapter
a. The possession of decorum b. Impartiality
c. Imposture d. Ignorance

e. Answer not known

Uelieubld @GHmeT SL 1bOILBMIeTeN DISHSTILD 671517

&5 eebeuTarp Het@m LG wimed

uTBUL G Qe GlLinsler

a. QPUDBB(PVL LD b. BEBmevL C. FLMTRQPURHHBID
d. @eveuTemID e. aloL Gsfwaledeamed

Propriety of conduct leads to eminence, it should therefore be preserved
more carefully than

a. Education b. Wealth c. Life

c. Valour e. Answer not known

R(WEHC 6160GM(HEGD GLOGIENMWS SH(HEUSHTS EBHLLSTE, Db (LDSHEHLD
amEalLF FBbsaTall CurmpLiLpLd?

a. sevalemwail b. GFevaudhemzmail c. o ulewgai

d. effsmaalL e. alewL Gafwelsvensv

Just as the envious man will be without so will the man of
destitute of propriety of conduct be without greatness.

a. Wealth b. Effort c. greatness

d. Suffering e. Answer not known

QUTBTEMLD 2 enL WIaIeTL &3l60 @eveorHeutm  Cumew, QPEHBLD
BeLeuTHaIIENL UL aUTLDSHMBUTL @ _WITa] Ee0eN60WITGLD.

a. oH&ID b. eadsid c. alupliud

d. 8®Gweu e. alewL Gafwelsvensy
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134.

135.

136.

137.

Who does not deviate from morality?

a. hauteur persons b. mentally strengthen persons

c. low knowledgeable persons d. hostility person

e. answer not known

RSHBSHIeNeTD BHRISTHEUT WiImT?

a. Gama@GemLGuimT b. weeuedenp ©_enLGuimit

C. LeveumleyenL GuimiT d. @60 o en @i e. alemL Ozflwalsdensn

Propriety of conduct is the seed of

a. The possession of love b. Courtesy c. virtue

d. hearing e. Answer not known

BOMSE alSaTas 6gl?

a. o6t b. wuewy C. [HELEETIPEHBID
d. Gmeiai e. alowL OxfNuwaledemen

Choose the apt Kural for the following meaning
Those who study propriety of conduct will not speak evil, even
forgetfully
a. It cannot be that they who 'strict decorum's' law fulfil,
E'en in forgetful mood, should utter words of ill
b. 'Tis source of dignity when 'true decorum' is preserved;
Who break 'decorum's' rules endure e'en censures undeserved
c. The strong of soul no jot abate of 'strict decorum's' laws,
Knowing that 'due decorum's' breach foulest disgrace will cause
d. The envious soul in life no rich increase of blessing gains,
So man of 'due decorum' void no dignity obtains

e. Answer not known
S QFTBEmeT SHeauplujd SN  UTWTed OFTEOID GBBLD, @(LPSHSLD
2 mLWAITHGL CQUTHHISTHITGLD. 6IaAILMS 2 _6WITHHID GMeT 6157
a. PUHS (PMLWaITHE e6060TEM Hu
QUIRSSWD eumwiml  GlFTeV60.
b. Qusssdar suigieuT Geaiend E(pdhdHHH 6
TUIGIUT STUISTLI L.
C. PUEBHH @eoBTT 2 FGauTT E(pdHBHE D60
golb LSS SPbI
d. opsaET B WIS QHHDCUTENS Ee0en6v
QPSS LOGVTEIHEI 2 U6
e. alewL OFMuwalsveneo

Humility is good in all; but especially in the it is (the excellence of)
higher riches

a. poor b. rich c. saint

d. learned person d. Answer not known
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138.

139.

140.

141.

LienTleyenL WeUJTd  QIRG&HSH60 OUmHieuTs  6160GeuMTH@GHID  HELVELSHTGLD, 6THIBTEILD
9I6UGAIGOEVT(HETEHLD  WIT(HEDL W  LieleuTerdl  SleuTal & CeuOmpmm  OFsveuld
Gureit Fplilenend SHHD?

a. aumlenLoujenL Guimyg b. GFevau(penL Guimyg) C. @hmeoflufleor

d. snCpTer e. alemL Ozfuwealsdensv

Should one throughout a single birth, like a keep in his five
senses, the fruit of it will prove a safe-guard to him throughout the seven-
fold births.

a. Yak b. Elephant c. Tortoise

d. Tiger e. Answer not known

QM  LIBLiied Gumed  bOUTBlBemenUD  SILSSwimen
AUCLEVAIGTTETTEY Ol .5 SIS GU Lev LIpinieid srium@ld FpiLenL wg.

a. seauflomest b. wrenen C. QLMD

d. yed e. alewL OHflwalevemsv

According to Valluvar in this Kural who are all should have control over
the tongue?

a. learned people b. Those in high office like the king

c. knowledged person d. All are

e. Answer not known

“ UiID BTETHST 6lIml CHTLBIG GBefled WIT [HTene
SILsBwimer CauewiBLD 6160 & (HAUGTEHOUT SuIlDLSIMITT.

a. sevalwple) GUBGBTT

b. weerm GureiB 2 withgh useluied o eTGemmit

c. GQuuiwpley o _enL Gui

d. ere0Beurm(mHID

e. alemL Ozflwalebensv

(The wise) will not at all esteem the resentful. They will esteem the patient

just as the which they lay up with care.

a. Husband b. Diamond c. Gold

d. Gem d. Answer not known

ShiG OFUIHamIl GUTBIGSTION aI(HHH M 2 0HHHAUT (H CUT[HETTS
LOGHWITT, HLeme0 CUTBISHSHeIm]L Gumed eTSHSHIEN MeUHSHI LOGILILIT.
a. ug b. eweuyid c. Qumesr

d. wrewidbaid e. alowL Oxflwaledemev

thiRanalla thaRpiRar seyyinum nonondhu

aRanalla seyyaamai nandru

In this Kural the term ‘no” means

a. Love b. Suffering c. Anger
d. hostility d. Answer not known
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142.

143.

144.

145.

FHmeirole0e0 HeripT CFuiuipid Crrembrhal

SIBSTDI6060 CFUILITEDLD [HEITN).

aeB @mefed aumd “Cour” eteiB GFmevedlest GUT(HET wWiTg?
a. SI6L b. gl c. dlab

d. uens e. alewL Gafuwelsvensv

avviya nenjaththaan aakkamum sevviyaan

kaedum ninaikkap padum

In the above Kural what is the meaning of the term Avviya?

a. Jealous b. Poor c. Love

d. Humility e. Answer not known

Sl OBEHhFHITET USHPD 6B  GBLUTAND ‘Oeualul’  6T6TLISH6T
QuIT(meT wimg?

a. GummTenip b. eumienio C. SI6HL

d. uemiley d. alew Gxflwelsdenev

Though Foemen Fail, which can ruin consummate

a. Envying b. Laziness c. Back Biting

d. Procrastination e. Answer not known

UmBT HEIG GFiw HauPamad Heupmmoed CalenLgd HmHeug 617
a. OIPSHBTHI b. i C. LBEIGnB60

e. OpHHaIUIeD e. alemL Gz flwailsdemev

agkaamai selvaththiRku yaadhenin veqkaamai

vaeNtum piran-kaip poruL

In this Kural the term agkaamai means

a. varavu illamai b. selavu illamai c. kuraiyamai

d. payanpadamai e. answer not known

‘Ol.".FTm OFasHHBEG WTogaiar Geul. .smen

Gouawipd  LIpeiiensll  GQUT(hHeT 6l GMelled 6B Ol BT 6T6IM
Qamevedledr GUIT(HET WITEHI?

a. auJe] BeLeVITeNLD b. GFevey Gauiwimenip C. GHENBWITENLD

d. vwestLiLmemnip e. alenL Gxfwaisvenev

Who may be called as Chaff of Humanity?
Those who offen speaken empty words
Those who are jealous
Those who hate hospitality
Those who do not speak pleasant words
e. Answer not known
LOSHBHEH6IT LUST ererliLi(BLeuT wmT?
a. uwerss Cu&ens LTTTL (HLIGU6T b. QumpBTenLOU DL UI6MEHT
c. alBHBHTIDLIEL al(HLOLITSH 6160 d. B&105T60 FmmTHeu6HT
e. alemL OFflwealedenev

fn o
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146.

147.

148.

149.

150.

If each entry in a data is divided by 10 find the change in their arithmetic
mean
a. multiplied by 10 b. does not change c. is divided by 10

d. is decreased by 10 d. Answer not known

Carhsbaiul(heten  egalGeurm  UeTell  alougmisemenuyd 10 S0 UGS
S sGb yHw Yetel aleugmseiar gnl bF Fymamumerdl eeleurml LOTHRID?
a. 109160 QUHBSLILILIQHEGLD b. g&ib wrBBLOsen6y

C. 108160 6UGHSHBLILILIY(HEEGHLD d. 10 GoBEEIULIQHEHEGID

e. alewL Oxflwalsvenso

How many numbers between 400 and 500 are exactly divisible by 12, 15
and 20?
a. One b. Two c. Three

d. Four e. Answer not Known
400 @b 500 &b @ewLuiled 12, 15 BLID 20 SHHUI 6IEHTHENTE0 AUIGLL &
FnlQUl GICIIH6NT 615HHENE O 6IT6IT60.

a. eIl b. &yewi® C. CLp6l
d. mreig e. alewL Oxfluaisoemen

Ratio of 75 paise to ¥3 =

a.1:4 b.4:1 c.3:1
d.1:3 d. Answer not known

75 ewugTosGID I3 HE 2 _6en aldHID \

a.1:4 b.4:1 c.3:1
d.1:3 e. alemL Gxfuwelsvenew

The ages of A and B are in the ratio 3:1. Twenty years hence, the ratio will
be 2 : 1.Their present ages are...

a. 60& 20 b. 30 &40 c. 65&25
d. 50 & 20 d. Answer not known
A ovppo B uler sBBumemsw euwg 3 ;1. 20 sLemibsens& LIBG,

SlalTsemer auuwg elalsd 2 : 1, eeafled euTseller HSBELTMSW UL
616116161T6)?

a. 60&20 b. 30 & 40 c. 65& 25
d. 50 & 20 e. alewL GxMuwelsvenew
The LCM of E§ﬂg1s
35713

12 36 1
a. — b. — Cc. —

35 91 36
d. 36 d. Answer not known
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a. —

35

d. 36

40 | Page

3
13

- a1 WUEUH OUITE DL BISTEIS

b. 36 c.
91
e. alewL Oz flwalsvensv
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